
SECOND SIMESTER(April/Itlay, 2004

CS104 - Object Oriented Programming Teclu

Answgr All Questions 'fime Allowed: lDl Hour

QI
4,

What is information hiding? What is encapsulation?

Describe the role ofthc constuctol and d0structor.

A combination lock has the lollowing basic ptoperties. 'lhe combiration (a stquencc of three

nutrbers) is hidden; the lock can open by providiug thc combination; the corrrbination c01r be

ohanged but only by someone who knorvs the current colnbination.
pesign a clirss with public member functioN open aud change_cotd) rnd prjvate data

members that slore the combination. The combilalion should be set in the collstluctor.

@

b,
What is operator overloading?

A vector, in three-dimcnsional space, r is a set of three coordiDates, denot.ing a position in
spaoe. The coordinates are (x, y, z) in Cartesian space-

levelop a class lbr a three dimensionai veclot. Inciude member fulctious
vectors and to form thc cross product between a parr ofvectors.

flintr Lc1 g =(a,, ay, a) b = (b" by, b")

lfcross product ofvector 4 and vector h is vector !: ;

s-gxb.
Let c : (cx, cy, cz)
Where,

c,= ayb.- a.b!
cy=az b:{ - a* b,
c"= ax by - ay b"

to add a pair of



42,
llilat does inlreritance means? Explain with examples.
pefine,a class TwoD-point to represent a two-dimensional space coordinate point consisting of
to&l value$ x and y. Vy'rite a member function to compute t[c distance betweeniwo TwoD_points.

Dofine.a class TlueeD-point to represent a three-dimensional space coordinate point additionally
9omisting a real value ofz, Write necessary code to compute iiie clistance between two ThreeD_
points.


